Here are the series of interactions that are needed for each category of the tasks.

For a basic recording task, there are two main interactions. They are:

1) The user records and the data transfer takes place.

2) The end points are detected and the recording is ended.

For a Dialog system task using speech mode, there are 5 tasks. They are:

1) The user records and the data transfer takes place.

2) The end points are detected and the recording is ended.

3) The utterance is decoded.

4) The decoder output is parsed.

5) The query response is retrieved and sent to the user interface.

For a dialog system task using text mode, there are 3 tasks. They are:

1) The user queries the system in text mode.

2) The query is parsed.

3) The query response is retrieved and sent to the user interface.

In a nutshell,

Basic recording – 6 tasks, 2 interactions (5 users)

Dialog system: Speech Mode - 9 tasks, 5 interactions (5 users)

Dialog system: Text Mode – 9 tasks, 5 interactions (5 users)
Table 1
	Category
	Daniel
	Sundar
	Saurabh
	Miao
	Madhulika

	
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture

	Basic recording 
	12/12
	12/12
	12/12
	12/12
	12/12
	12/12
	12/12
	12/12
	12/12
	12/12

	Dialog system:

Speech mode
	45/45
	45/45
	45/45
	45/45
	45/45
	19/45
	45/45
	9/45
	45/45
	4/45

	Dialog system:

Text mode
	15/15 

	24/24
	27/27
	27/27
	27/27
	0/0
	24/27
	0/0
	27/27
	0/0


Table 1 is tabulated depending on the three categories of the task types. The data in table 1 are the number of interactions for all the tasks in the given category.

I have expanded the table 1 to categorize data in six different interactions. Table 2 has been categorized on six different interactions that happen in the different categories of test tasks. The six different interactions are:

Interaction 1 -The user records and the data transfer takes place.

Interaction 2 -The end points are detected and the recording is ended.

Interaction 3 -The utterance is decoded.

Interaction 4 -The decoder output is parsed.

Interaction 5 -The query response is retrieved and sent to the user interface.

Interaction 6 -The user queries the system in text mode.

Table 2

	Category
	Daniel
	Sundar
	Saurabh
	Miao
	Madhulika

	
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture
	Enhanced

Architecture
	Original

Architecture

	Interaction
1
	15
	15
	15
	15
	15
	10
	15
	8
	15
	6

	Interaction

2
	15
	15
	15
	15
	15
	10
	15
	8
	15
	6

	Interaction

3
	9

	9
	9
	9
	9
	4
	9
	2
	9
	0

	Interaction

4


	14
	17
	18
	18
	18
	4
	17
	2
	18
	0

	Interaction

5
	14
	17
	18
	18
	18
	3
	17
	1
	18
	0

	Interaction

6
	5
	8
	9
	9
	9
	0
	8
	0
	9
	0

	(Successful interactions)/

(Total number of interactions)
	72/72
	81/81
	84/84
	84/84
	84/84
	31/57
	81/84
	21/57
	84/84
	12/53


Table 2 gives around 30 different cases (5 users * 6 interactions) for the original and the enhanced architecture.
How do I handle the data that we get when the system fails?
For example, let’s consider a user encounters a system failure at the 25th interaction (when the total number of interactions for that category was 27). So I conclude only 24/27 passed the test. “This can be viewed as how many interactions it took to get the first error”.

In case where the user could complete only 24 interactions (the total number of interactions was 27) in the allotted time, I represent it as 24/24. This is because no system failure but the user was forced to abort due to time restrictions.
Table 2 gives us 30 samples for each of the architecture. We need to normalize the data (e.g. divide the data by the total number of interactions in each category). This data can be later used to do t-tests.

- Theban

